(Z(ath Sm.)-Phitosophy-F/CC-10/CBCS )

2023

PHILOSOPHY — HONOURS
Paper : CC-10
[Epistemology and Metaphysics (Western)]
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1x10
(a) In which of the following cases does the ‘feeling’ guarantee the truth of the statement about what
is felt?

(@) 1 feel the sharpness of the knife.
(ii) I feel sick.
(iii) I feel that it will be raining tomorrow

(iv) I feel that the mango is ripe.

(b) Which of the following statements is false?
(1) In a valid deductive argument both the premise and the conclusion can be true.
(i) Ina valid deductive argument both the premise and the conclusion can be false.
(iii) In a valid deductive argument the premise can be true and the conclusion can be false.

(iv) Ina valid deductive argument the premise can be false and the conclusion can be true.
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(c) Who among the following philosophers does not propound pragmatic theory of truth?

(i} William James (i) John Rawls
(i) C.S. Peirce (iv) John Dewey.
(d) “It is a true emerald.”— In what sense is the word ‘true’ used here?
(1) Faithful (i) Perfect
(i) Real (iv) Genuine.

(e) What kind of possibility is expressed in the following state of affairs?

“To jump 10,000 feet in the air’
(i) empirical (i) logical
(iii) technical (iv) none of these alternatives.
(f) Which among the following is not a theory of universal?
(i) Nominalism - (i) Conceptualism

(i) Critical theory (iv) Resemblance theory.

(g) Which among the following propositions is a synthetic proposition?
() Every effect has a cause. (@) All mothers are females.

(iii) Men are rational animals. (iv) Every event has a cause.

(h} “Universals are nothing but names.”— Who is the exponent of this theory?
(1) Berkeley (i) Locke

(i) Plato (iv) Socrates.

(1) Which of the following propositions can be known in the strong sense?

(i) Grass is green. (i) All swans are white.
(iii) Men are selfish. (iv) A yard is three feet.
G) If A is the necessary condition of B, then which of the following is true?
(i) If A, then B (1)) If not A, then not B
(iil) If not B, then not A (iv) None of the above is true.
(k) “Secondary qualities are inseparable from the primary qualities.”— Who is the exponent of this
view?
(i) Plato (i) Locke
(i) Berkeley (iv). Hume.

() “All the qualities of an object are objective.”— Which of the following theories holds this view?
(1) Neorealism (i) Representative Realism

(i) Naive Realism (iv) Phenomenalism.
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2. Answer any five questions :

(2)
(b)
(c)
(d)
(e)
)

(&

(h)

Explain with examples, the distinction between occurrent states and dispositional states. 5
Are there any propositions that can be known in the strong sense? — Discuss. 5
Distinguish between an apriori proposition and an aposteriori proposition. 5
What is the main tenet of coherence theory of truth? 5
Following Hospers explain with examples, two definitions of analytic proposition. 5

(i) What is the peculiarity about the reference of the word ‘I'?

(i) Give one example where two words refer to the same thing but have different meanings.

2t2Vs
Evaluate the following argument : 5
S has the concept of X.
- S can define X.
Make a distinction between strong idealism and weak idealism. 5

3. Answer any two questions :

(a)

(®)

()
(d)

Under what conditions is the statement °S knows that P* true? Distinguish between strong and
weak senses of ‘know’. In what sense has the word ‘know’ been used in the following
sentences?

(i) I do not know the solution of this problem.

(i) I know that Geeta is selfish.

(if) I know Rina intimately. 8+4+3
Explain, with examples, different kinds of possibility and impossibility. How are they related
to each other? Is logical possibility identical with conceivability? — Discuss. 6+5+4
Can the causal principle be explained in terms of constant conjunction? Discuss after Hume.

15
Discuss the main tenets of Phenomenalism. Mention the defects of this theory. 10+5



